JiTT Questions for “Rising Firm Production Costs” AE

“Company Costs Are Rising, but Getting Shoppers to Pay More is Hard” (Wall Street Journal, May 9, 2018)

1. According to the article, why are costs for firms in the food industry rising?
2. What prevents firms from passing these rising costs on to consumers by raising their product prices?
3. Are the cost pressures likely to ease in the near future? Explain.
4. Assume that input costs stay high. In what situation could firms absorb some of the cost increases without passing them all along to consumers?
5. In what situation would firms have to pass all of the cost increases along to consumers or go out of business?

[bookmark: _GoBack](These last two questions are intended to get students to think about the difference between perfectly competitive markets and markets in which firms have some market power.)
